Set #15 — General Plane Motion

1. Small wheels have been attached to the ends of rod
AB and roll freely along the surfaces shown. Knowing
that wheel A moves to the left with a constant velocity
(of 1.5 m/s, determine
a) the angular velocity of the rod,
; b) the velocity of end B of the rod.
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Set #15 — General Plane Motion

2. In the planetary gear system shown, the radius of gears A, B, C,
and D is 3 inches and the radius of the outer gear E is 9 inches.
Knowing that gear E has an angular velocity of 120 rpm clockwise
and that the central gear has an angular velocity of 150 rpm
clockwise, determine

a) the angular velocity of each planetary gear,

b) the angular velocity of the spider connecting the

planetary gears.
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Set #15 — General Plane Motion

3. In the position shown, bar AB has a constant angular
velocity of 20 rad/s counterclockwise. Determine

a) the angular velecity of member BDH,

b) the velocity of point G.
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Set #15 — General Plane Motion

4. An automobile travels to the right at a constant speed of
48 mph. If the diameter of a wheel is 22 inches, determine
the velocities of points B, C. D, and E on the rim of the
wheel.
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